FASTON®

EZHIAME R ~FE E SERIES OUTLINE DIMENSION DRAWING

20E5MEE
20E Outine Drawing
WOk L Ratio (81,105,121,141,161)

PC.D.72

69

65
50

245 __ 20 8 SINEHS Input gear

\

Gyl
IL|74%0)
9usolao

G160
LYeTLD




FASTON®

E&RFAMER T Bl E SERIES OUTLINE DIMENSION DRAWING E&RAAMER I B E SERIES OUTLINE DIMENSION DRAWING

SOEAMEE
80E Outine Drawing
Wik Ratio (81,101,121,153)

40ESMEH
40E Outine Drawing

WL Ratio ( 81,105,121,153)

P175

2-M8

68

AN 48 15
HINLGEL Input gear LA Input gear

L4061
o

JAETTO)
LYSELD

L4091l
06ld
L4061l
L4091l




FASTON®

EZHAME R T B E SERIES OUTLINE DIMENSION DRAWING

EZHAME N T B E SERIES OUTLINE DIMENSION DRAWING

160EAME B

160E Outine Drawing
Wk L Ratio (81,101,129,145,171)

110EAMEHE

110E Outine Drawing
Wkt Ratio (81,111,161,175.28 )

12-913

12-M12%(Deep)18 12-011
2-M10 30°

NS4S Input gear 15 NS4S Input gear

—T11d i

J740)
L4702

s ?
-
ol
——
8LLD
0€ZD
LY08zZd

vSld
00Zd
LYrvZod

L4802
LYzZ8lod




FASTON®

EZ&%4ME R ~F B E SERIES OUTLINE DIMENSION DRAWING ERYJ 3 8822 35 245 E TYPE REDUCER INSTALLATION ESSENTIALS

MY 3853 KARFVERIEES FITERE, T7 2O IS 2280 [, 224277 1A, 1 DA R B TR (I I
in order to make fully use of FVC type reducer, it is need to make a best design of the assembly precision, installation method, lubrica-
tion and seal.

EET 1T LS Assembly Precision

. Rt (R R0 A3 1Y [R5 1R 222/ N 10.03mm (160E DA_EAZEY/NF0.05)
320EAMEE Coaxiality tolerance (a) of motor shaft and reducer is lower than 0.03mm (for models above 160E, lower than 0.05).
PG ERIE LI U2 R L, R S AR 3 S
WLt Ratio

Because of the poor assembly accuracy, especially easy to cause vibration and noise.

(81,101,118.5,129,141,171,185)

BEIC.1: ZEHCKSE Figure C.1:Assembly precision BEIC.2 : FEHL % B Figure C.2:Assembly seal

LR LRSI (3RC.3)
Liquid sealant must be used on the
mounting surface (table C.3)

,,,,,,,,, (110ELLL)
(Above 110E)
— 1 ===
Lg% 8 { ' AREH,
Servo —1—
= — Fenfakin] == motor

6-M163%(Deep)29 R g = IR OutEpJut shaﬂmx {

= = == d = & —=—" il

18-M10;%(Deep)16 7==d | I j): =
''''''''' e

— S |

"0/ "0"ring" II”
eI Assembly Method
. . e s 20E. 40E. 80E:
AL A% R P RS AR T P A [EC.3 : % HLRl Figure C.3:Assembly example
The assembly according to the specified dosage specified sealed grease.
IRIESS AL RCE SN FOPRIE DR, B C.2R, BIC.2H 0" IE

3]

R EFRHATERE,
Reducer assembly in the supporting parts of the standard icon, shown in 5‘ 0"
figure C.2, figure C.2 in the"0'"ring position to be sealed. "0%ring” I °
UNEERL AR SRV O AU, T A R C. 3R T B L, SNEIRET ey ==
Outer circle M
If the structure is not allowed to use the"O"-shaped ring, please use the positioning b=
table C.3 liquid sealant. iyl = fRIRRFEAT
- 6 ] - T Central location _ Servo 1
HERLER A O BUE 2 B R, ULEIC.2, BIC.3, BIC.4, R#KC.1, & R motor
utput sha
C.2, — |
125 . AN . . [r==d E ''''' ==
- " Assembly diagram and"O"-shaped ring seal size, see figure C.2, = H—
. — YN — figure C.3, figure C.4, and table C.1, table C.2. = — -
o= ——1
110E.160E.320E: TR T g e
~ 160, S 0B "I "0 I
] N KlC.4: L35 Figure C.4: Assembly example e
[ . i " K
K o ] F£C.1:“0”#pd (| |): Table C.1:"0"-shaped ring(| )
80w =]
s lo ° "0"ring" 1 i #lEModel 1BEA"O0"#E Apply The"O"Shape Ring
g RIE— ‘ o le 2 L 20E S120
A= | FRBE SHEITEfS SIS
i Outer circle P — i 40E AS568-258
positoning «( 80E AS568-263
e = AR
N - PR Servo |- 110E G190 (B2401)
it { - oter 160E G220 (B2401)
Output shaft — L
U N = 4 320E G270 (B2401)
e l— ==
=1
[ L ——— j A
N EIC.3i%: OEAISNEEIEE—.
- Bt

[
]
) Figure C.3 note:Center positioning or outer circle positioning.
= "0"fZE I "0"ring"II"



FASTON®

ERU 354 2% 2 %5 40 E TYPE REDUCER INSTALLATION ESSENTIALS ERYpiH 85 2 44 240 E TYPE REDUCER INSTALLATION ESSENTIALS
FC.2:°0"HE (| ) #®E R (mm) : Table C.2:“0”-shaped ring( | )sealing size table (mm) EIC.5: i A5 25HL Figure C.5:Input gear assembly
fCE Code HLZ Model 20E(A) 20E(B) 40F SOF 110E 160E 320E (Efh: {ERDIXMZIRFLDirect-axis:Servo motor shaft without thread ) (Edf: (AIRDIXiMERFLDirect-axis:Servo motor shaft with thread )
feSCode AS568-045 $100 5132 AS568-163 | AS568-167 | AS568-265 | AS568-271 mﬁ
8’? ZfRWredameler | $1.78£0.07 |  $2%0.1 $2%0.1 0262007 | $2.62%0.07 | $3.53£01 | $3.53%0.1
= e T corira | siairins st roancal s sreinEal s dor s om oA e == ‘ =" ]
5 Pfinemaldameter | $101.32%0.38| ¢99.5£0.4 | ¢131.5%0.6 | $152.07%0.58| $177.470.58| $196.44£0.76 | ¢ 234.54%0.76 = A [— - - — —
B s |NED Outsidedameter D $105 105 $135 160 182 204 $243 - [— | I— . o BOT ,,,,, * = )/
= L 4 L
3 |RT SRAEEHDepthH 1.27+0.05 159, 153, 206+0.05 | 206+0.05 | 2.82+0.05 | 2.82+0.05 ;
(0]
| oreove] | BEGWNG 2.39°4% 2.70°8% 2.70°4% 3.58°4% 3.584% 4.78°4% 4784
e
SEK Heighti< 3 3 3 3 3 4 4 (s, (EAIRDIXIMEIR2RCone axis:Servo motor shaft with bolt )

iE: EERF “O” FBA, BfE%E—1. Note:On the table of'O"-ring, from A, B option one.

aﬁg(—f: e e M =1 ]

FC.3: HEF WA ER Table C.3:Recommended liquid sealant S e  —1 T i
N =318
: Draw bolt
R (BISR ) ﬁ_ﬁﬁﬁﬁﬁ FC.5:HANKGHAR! Table C.5:A type of input gear shaft
Name ( Manufacturer ) Properties And Uses
T BRI R AL T W M) A A RTBOR N iR AR Size Code A B C D dd E L NOTE
Three Bond 1211 EERTATIA Silicone based non solvent type Note:Bolt and pin and assembly please ask the 20E 25 46 95 235 11,14 215 - -
Three Bond e T ill
( ) FFHEFIH Half dry filling company's technical staff 40E 29 53 100 29.5 14,19 295 - -
e e 80E 29 - 100 36.0 19,22 - - -
NN [\amnzE sy i
HERME SERL SS-60F %/ﬁﬁig% Ti\m :tj Solvent free elastic seal 110E 34 70 120 200 19’22’24 38.0 B _
(Nihon—Hermetric) EEEMEEA Metal contact surface
160E 35 - 120 42.0 22,2428 - - -
320E 35 - 140 46.0 24,28 - - -
AT B L% ] S 450E 38 - 155 56.0 28,35 - - -
Fastening Torque Of The Screw
B B, 6 PP A BT (GB/T70.112.9%0) , Wi 4572 C. 4 58 [ 6 B 00 17 S, 46 et BSR4 D80 (PR , 38 P D Y R0 A NAEHIBA Table C.6:B type of input gear shaft
(GB/T118-2000) . 24 T 7 IE 7S A SR RAS) , F3 1 A5 PR RSETIE 5 5 £ P RAJAUS Size Code A B BB C D E F d dd L NOTE
E type gear reducer, using allen screw (GB/T 70.1 12.9 level), Pls.fasten follow the table C.4 fastening torque.The output shaft screw 20E 25 50 66 100 30 23.5 21.5 11,14 5.5 - -
and pin(P type), Pls.use the the taper pin(GB/T 118-2000).To keep the allen screw from moving, recommend use the disc spring A0E 29 33 76 115 36 295 26.5 14,19 6.5 — _
washers. 80E 29 80 - 130 42 36.0 - 192224 70 - -
S ~ 160E 35 105 - 170 50 42.0 - 24,28,35 9.0 - -
N - X e EE i E] 2
WSFAMZET Allen Screw K[El%% (Nm ) Fastening Torque ( Nm ) AT 2 %L Screw Parameters 320E v 122 - 185 50 16.0 - 24.28.35 1 - -
M5X0.8 9+0.5 450E 38 139 - 215 58 56.0 - 35 1" - -
1-GB/T 70.1
M6X1.0 16£0.8
2-12.9%:12.9 level
M8X1.25 37+1.8 . .
3-&E41EBlackening
M10X1.5 73%3.5 4—E#ESLCylinder head (HENEHHARA type of input gear shaft) (BASEIHBELB type of input gear shaft)
M12X1.75 129+6.5 .
5 IRLUERE . 69524 w =
M14X2.0 205+10 - 8 . °
Thread precision: 6g or 2 class N
M16X2.0 318+16 =l < { .
8 & | | 3 8 S u 88
A ViEe =
Input Gear R . A L
BRI N 0 2 A T R LA 2285 F LI A o ; B
Standard input gear is without any machine mouting hole of the motor. . o
ZERAIANEC.5: (FL=FH) c

Install sample as shown in picutre C.5: (Three way)

WA EHIRSS Input gear customized service
AN EI AR AR T AR A TR AN S AR A E L N TARSS o

Our company can provide input gear customized service according to motor.



ERY 38822 35 245 E TYPE REDUCER INSTALLATION ESSENTIALS

20E, 40EfAT R th %

faRHE A (EIC.6)

20E, 40E have 2 planetary gears.Please pay attention to put gear
directly, correctly, and lightly when mounting gear.Do not use
force, do not be incline when mounting. (Figure C.6)

EC.6: 3ERLAL E

Figure C.6:Assembly position

FHRAVERED

Incorrect assembly

P C. 7 < RE B ekt 85 P 0 1 328 b 22 3 il
Figure C.7:To be able to hole-through
ratio of gearbox intall shown

=)

hole-through ratio.

sample as shown in picutre C.8.

FC.7: AREBTI@ IR LE
Tabe C.7:Speed ratio can not be through

EACAMA RN TRBIERMA G AESDERIRES PR LN RE BUEATE EL,
RRERA, (VB IEM, AN 2RI, ArTs A, A

To be able to hole-through ratio of gearbox and cann't

ANRESTRAIE AN R CT ., Z2ER I WLIE C.8,
To be unable to hole-through ratio as table C7,install

20E 40E S8O0E
Eerfant i
From output shaft 57 57 57
S
Housing output 56 56 56

£ R2FIRLCABERBRIELL . BERBRIERSNEBRIIRL R BIEIC.7
Note:Table 2 is shown hole—through ratio.To be able to hole—-through

ratio of gearbox is C.7:

P C. 8 : AN b1 I D ad 25 AR PR3k bb 22 4 il
Figure C.8:To be unable to hole-through
ratio of gearbox intall shown

0
FUAHE
A hole with a ring
ihFRE
Retaining ring

=

BAAPALER

Input sun gear

RIBRR
Deep groove ball
bearing —

AR
Input spline shaft

FASTON®

ERY R 3 2 3595450 E TYPE REDUCER INSTALLATION ESSENTIALS

{3 Lubrication

TR A5 A : Molywhite FE-008VIGO-Grease FEOH & HHFR]fHZfhs 2 10 & & FI 8 AR

Reducer using lubricating oil:Molywhite FE-00 or VIGO-Grease FEO other similar grade precision reducer special grease.
ROE S I A e I, 76 2R N S e TP TR, SR B2 E g P R I AR 190%.

When the gear reducer is not filled with grease, it is recommended to fill the grease at the time of installation, and the filling amount
is about 90%.0f the internal cavity volume of the reducer.

TR THIRE R BE L TR) A 200007 NN TEFRHIR T SREA R S5 VPN ME RN, SRR EIRHARE L, BT RAIEDL, HUE S ),
Lubricating grease standard replacement time is 20000 hours.When the grease is contaminated or is used in harsh environment, it is
necessary to check the condition of aging and pollution, and changed within the allotted time.

JBIA S T PR Th R T T BN R C.L8:
Reducer lubrication grease recommended dosage as shown in table C.8:
T PR i FE AL B AN 1= C.9, [K1C.10:

Grease filing position as shown in figure C.9, figure C.10:

FC.8: I MARIEANR Table C.8:Lubricating oil injection

98 B Filling Amount K% Horizontal Installation e 1. 2% Vertical Installation
15 Model (ce) (ce)
20E-FVE 87 100
40E-FVE 195 224
80E-FVE 383 439
110E-FVE 432 495
160E-FVE 630 694
320E-FVE 1040 1193

EIC.9 : A MIENNE OKE)  Figure C.9:Lubricating oil injection position (horizontal)
( Z2E7kFifinstall horizontal axis )

"""" SEHIL
0il hole
ffeatit)indsq
Output shaft rotation
{FIRRERA
o Servo motor
L
0il hole

EIC.10: 3 iE A& (B E) Figure C.10:Lubricating oil injection position (vertical)

(ZEEFE—1Install vertical axis—1) (ZEEFEEM-2 Install vertical axis—2)

L e
0il hole Output shaft rotation
BEdhiz o= AVA=S | paszinh fRIIREEH .
Grease position 0Oil hole Servo motor NEsh = el = va=4
Grease position

—

mi
!

L
Oil hole

{EIRREEA
Servo motor
1

Lfeatiting sy EHFL
Output shaft rotation 0il hole




